Operations Management
Lean Production

Define lean production
	






Explain what is meant by “waste” in lean production
	






Lean production involves a range of techniques. Use the exam board notes and the text book chapter to briefly summarise each of the techniques below. You summary should include:
· Explanation of the key elements of each method
· 2 advantages of using the method
· 2 disadvantages of using the method

	Cell production:











	Time based management:












	Benchmarking:










	Kaizen:










	Just in time:










What is required to implement lean production in a business? Give examples
	








What are the general benefits of adopting lean production methods?
	











In the space below, make notes on the lean production methods used at the BMW mini plant in Oxford
Watch: estream.godalming.ac.uk/View.aspx?ID=880~3D~mOKLCd
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Question 1.

New Balance Athletic Shoes (UK) Ltd is a US owned company producing a
range of high performance athletic shoes. The business has been
manufacturing in the UK since 1982 and moved o its current site in Flimby,
near Workington, in 1991. New Balance had developed a five year strategic
business plan to increase turnover from £70 million to £250 milfion. In
order fo achieve this, the. manufacturing plant would have to triple the
oulput of the one million pairs of shoes produced in 2005, Land was.
acquired adjacent to the current site to build another factory unit and the.
management team was looking for new ways to increase capacity and
productivity,

The company employed a consultant to un a series of team workshops
with process workers to introduce the basic principles of lean
manufacturing. These teams were then challenged to analyse their current
process, which led to the development of a new cellular layout requiring 35
per cent less space and only four operatives instead of five. The. total work
content was balanced between the four operatives to create product flow
around the cell. Once the cell footprint had been agreed, a new future state
‘ideal’ factory layout was developed to convert freed up space into
additional cells. The switch to lean production Generated a number of
benefits for the company,

© Output increased from 10 to 14 pairs of shoes per person per hour.

* Cell teams reduced from five to four people.

 Thirty five per cent reduction in space taken up by manufacturing cell

* New cells created.

 £1.5 million positive cost variance compared to 2005 manufacturing

costs.

* £1.5 million cost avoidance, as there was no longer any requirement

to build an additional factory.

Source: adapted from www.mas.dfi.gov.uk.

(@) Using this case as an example, explain what is meant by
cell production.

(b) Explain why cell production lends itself well to
teamworking.

(€) How did the introduction of cell production benefit New
Balance Athletic Shoes Ltd?





